[

#ER:1/2,500

MR- TR KEFIERRE K

o
=

BAIRZNDIEE |2EHBORE

HRAEES 132402A661101041

[EIES 2 HhF

PITTE 3t Hi Eh & B ET 3R AT

S B B mR.1/50000
_

TS e T Tt Ay
5 o s N T
7)) NI%{L}%@%J/‘@% ALz
/ [ty s ety
[13)e ﬁiﬂj,} A 7/!_ : STy

DN g T AN RS
gf,? 1 & 7 AN e
%QC)J{ oy
"V.] /\‘.5"'{\0 m’_\

= oy
1 3 35T 0D #4 {18 1#h (K] 50000 (30 B 8)

X & & R A

I:l IMREERRE

- IBRKERNERRE (BPRRESES) —

BEICEDAA100N/ MERBZ DR
T wMENemEBABRE

[ whovoms

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

Of

TEE

1/ 2

ERE




TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. —Fﬁaméwd‘i@%ﬁ@ﬁ&?ﬁ%%':*u'25’\ EMAEEE  |132402A661101041
j]d)lZﬁj‘%EEEG)EEHﬂ é*bf:ziﬁﬁwﬁiﬁﬂ_’éﬂ'\bfb %)o o yr— =
(A) BBEIZKBHNHA100kN/MEBZSXEDBEID HDFEAEKN/M) (E) HIBEMNIMEBZIXEDOHIBD HDREKIEKN/ M) 2 IHAERAERRAN ST REEET S ik il
- \ 0 ] HRANIE H = 0\ 3mZxta A =] H=NIE m b=y o 3 - - =4 ~ —
(B) (A s S IS D155 0+ 3 % OB S(m) (F) ()3 4 R~ fE RS BB O LB % DR &(m) %fﬂwﬁ’ﬁff?fﬁf’t‘;ﬁw L SYEHEEL FR7E o Hi E i FET SR
(C) BBEN= &% 71 A5 100kN/mi LI R O R DI E D A DB AMEKN/ ) (G) HHE A 3mEL T DRI D 11D B AEN/ ) ENLREIBE LAHR T BEBHRIHA T
D) CONLZEEY AT IBEDLTRENSE(M) H) QN LHEEY AT IBEDLRENE (M) DEGRHENCBEETAHAENTED,
METREIUTHDTEEDADAZE SIESHBAD T EZ D HDKES
RKAES % =
(A) (B) (C) (D) (E) (F) @) (H) A) B) (©) (D) (E) F) (@) (H)
(1) 163.8 1.0 99.3 1.0 21.0 4.2 15.1 3.0 163.8 1.0 96.5 1.0 21.0 4.2 14.7 29
(2) 163.8 1.0 99.6 1.0 21.0 4.2 15.2 3.0 163.8 1.0 96.9 1.0 21.0 4.2 141 2.8
( 3) 161.3 1.0 99.6 1.0 20.3 4.0 15.2 3.0 161.3 1.0 96.9 1.0 20.3 4.0 13.6 2.7
2/ 2 ERE




